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I Semester B.A/B.ScJB.Sc. (FAD) Examination, November/December 2017

(Freshers+Repeaters) (CBCS) (2014-15 and Onwards)
LANGUAGE SANSKRIT (PaPer - l)' Kumara Sambhavam - ll Ganto, Grammar and Comprehension

Time : 3 Hours Max' Marks : 70

Instructions : 1) Answer in Sanskrit/Kannada/English.
- 2) Questions I, V and Vl should be answered in Sanskit only.

t. qfi*+qrdr td* I (10x1=10)

= ioo:nd w$dddletol udooro:

Select and write the correct answer:

1) gmwrrrdfusnrcitorq{?
sT) ;m*q en) qarorqq q) €rssr"{q {) rmmren

zl SHrwEtTaqMt qR ?

sr) E{r qr) q*rqi{r E) qEiltrr {) sr,nt

3) frdmsr: ![d rg: ?

a) igwi en) imrui E) emrgi il qfd+t

+y ftdmvr: *q frs5ilr: ?

s{) r+{ en) dn*ur E) qfu {) rFqdur

5) il$rgd ss sTrgsr{ ?

sT) qq{q en) qqq-s E) vqsq $) qrrqurw

6) qrqsft: Ngt' ?

er) grui en) arg{rqi E) qffii {) ffinq
7) tfi: Fiq'S{hrNq: drm{3rg{.f,qfr ?

er) Ea*vft: 3{r) ua: E) w: {) Yq'

8) td{q' th': ?

u) ftug: sTT) Yar E) fu' {) ssr

P.T.O.
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9) drGF: ft{qr: 5+ uFrc: ?

sr) TT*g: otT) atx:

1o) gd{: *q q {ndq ?

sT) g&{ en) uv-*rtvr

E) fu, {) 116,

E) wdq €) srqqftur

tt. ed: s{Td: wt ftsa t

olndooddo addr ddJeri w$o*:
Answer any two of the following :

1) Hrsrgtur frtscnTqqqrfttq|qi Frftqsftr?-e frqd I

odaipdeodaeadoodnoq,adeddddPoJr$"dro$udoor-
Write about the plight of Gods who were tortured by Tarakasura.

2) gilr1tsnm€q frdsq{R oen qniqi frqa t

*dnddoqidd adddoJ: ddrd dqa naoaodddladour.

Summarise the story of the second canto of Kumarasambhavam.

3) t5.nC{|-SFq qr+q-6r€-5or: sTrtrfl rgc t

roecpdd *edd, ae; d$ dd.grlddl*o$ udogro.

Write about the life, time and works of Kalidasa.

nl.Trrruri tfuHrqstiFti F€r fgga t

oJndlcoddo dlJo$ dqdrldqerd)od dna &dox:

Translate and explain any three verses :

r1 qqRqtlE$HryA:ffi1
Wx+h.tFrq qr+r&Eg+gE tt

2) uqry-6r l"rfr qrqt em*Fdft$ftwqt
qd qt: sdlsrTgrqi d Iq-* fttrq t t

3) frfregffiiqfurftqerr$Tl
MsfrfrSqgurfta:tt

4) g+$q rffirei {itrdn qrnrqq 
I

ffiqT$fH'{trsEasrT: ll

5)ild@l
$ffi"r+flrrns crruttf: tl

I |||ililt ilil l] llll[H lll llll

(2x10=20)

(3x4=12)



ilffiilfl|ilffiil$silll

lv. ed: qrflql: {rs+f ftqgc t

oJndl clo ddo ad dt and, rtd$*dodqJrdbd ador, :

Explain with reference to context any two of the following :

1) g{qm Siurq sTrq elqqi ?r{t I

2) Tf,seg: gfrti$frnTfr€qqe I

3) qfr qRH fr*'ni rqrT ggTrsdRl-dr I

4) s.Twrilq frdnqi eFhgHFIa: t

a

._- v. rigi-dqTwr FflrFr ftsa I

sT) vsqni fu-t+{R-qd{rfr ft{qd I

2) tdrqi

s) s,
4) TTq

5) ds

o; rrak:

4 enftmri

8)5{r
en) veni vqtn-gw-Tfirfr frsa t

1) rrdR

2) rqrq

3) erqTE

+) oeqt

5) {rgfr
6) {qg

AqM
8) rrdrfr |
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(2x4=8)

(5x1=5)

(5x1-5)
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vt. Eq qfidd qftrqr w{r{|-qsiruFr ftqo r

qsfr{fti rtElgft: Bqiq: *,otnrrrq3{rrrildr{l irfl {rgffiTr gwd{qq frffi
Tdtr a Esr*ft t gfia: q: d-€ qmi <wrt - "qqiq1; .Tft: qrfr ftrsryq,g" 5,
ire{f,q sffiqn, fri{c+r q5 rrqcn ii qfii yrFffi | irr €: !tr{strdr{'?rfl g6{<.

FI-FI ar$'€fl+i; aHft , irt ga {T : q|EFTdi FqRsqfr ' Eft t rKd iIFn : :rg'ftd : qE'aflq*t

ErA qkdq | {rdqqrqi g<: {rgr;ffii q qffir{ I'q+ft q rrrT ffi' qft qt gtrdr{ 
I

K|E A.qr {r$iliTr fti Tdrfr | dfl Kth: rfi'I{T: drq s{rEH rrffir{ I

SFIT:

1) Tdrgfr: $.Itq: gf, sTrrrddr{ ?

2) srq-dtrqEqdfr t
3) {rg'il€ntvfii{nift{?
4) s: W;f,mi q rq6qq ?

5) {eFilf,i srr*.rfr fr6qqa; !

+ |il]iltil]ilt|||ilil]lrffiilrl

(5x2=10)


